SQL>» CREATE TABLE cambios |

tipo CHAR(1) HOT HULL,

razon UARCHAR2(8) HOT HULL,
fecha DATE HOT HULL,
antiguoidestudiante HUMBER{5)},
antiguodepartamento CHAR(Z),
antiguoncurse HUMBER{2},
antiguogrado CHAR{1),
nuevoidestudiante HUMBER(ZL),
18 nuevodepartanento CHAR({3},
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1 nuevoncurso HUMBER( 3],
12 nuevogrado CHAR{1)
13 );

Tabla creada.

sSqQL>

sOL>

S0L> CREATE TABLE errores
2 codiqo HUMBER ,
3 mencaje UARCHAR2{ 2808},
L1 informaclion UARCHARZ(18A)
5 ¥i

Tabla creada.

TOL>

50L> CREATE TABLE temporal ¢
2 columnanumerica HUMBER,
3 columnacaracter UARCHARZ{60)
h s

Tabla creada.

SQL>



SQL> CREATE TABLE debug {
2 nlinea HUMBER,
3 texto UARCHARZ{18a8)
4 ¥;

Tabla creada.

sqL> |

SOL> CREATE SEQUENCE secuencia
2 START WITH 16888
3 IHCREHMENT BY 1;

Secuencia creada.

soL: |



